BEVAE 181

BLOCK 1 AN INTRODUCTION TO ENVIRONMENT
STUDIES

UNIT 5 FOREST RESOURCES

COMPLETE UNIT 5 WITH MCQ

Hindi & English both
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ITR: A - HIeH R e
What is included in the economic importance of forests?
A. Food and fuel
B. Only oxygen production
C. Only water conservation
D. Only carbon sink
Answer: A - Food and\fuel.
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What is the ecological importance of forests?
A. As climate regulators
B. Only conservation of wildlife
C. Only source of raw materials
D. Only conservation of reservoirs
Answer: A - As climate regulators.
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What is a carbon sink in forests?

A. Emission of CO2

B. Absorption and storage of CO2

C. Absorption of water

D. Production of oxygen

Answer: B - Absorption and storage of CO2.
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How does the absorption of CO2 by trees affect the climate?

A. It cools the climate

B. It releases CO2 into the atmospheré

C. It increases the greenhouse‘effect

D. It balances the climate

Answer: D - It balances the climate.
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What is,said about the biological importance of forests?
A Theyonlyaffect the climate

B. They act as a carbon sink

C. They maintain biodiversity of wildlife and plants

D. They are only a source of raw materials

Answer: C - They maintain biodiversity of wildlife and plants.
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How does forest conservation affect climate change?
A. It increases sea levels

B. It increases greenhouse gases

C. It stabilizes the climate

D. It affects rainfall patterns

Answer: C - It stabilizes the climate.
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What effect do trees have on water conservation?
A. They consume more water

B. They regulate water flow

C. They dry up reservoirs

D. They do not affect water quality

Answer: B - They regulate water flow.

. gl BT ol 3R vafavor Fdtg 3ol yarg H e aiTe 82
A. T DTS BT IO R &

B. § JAeRUMT Ha §T¢ Wad §

C. d baa TR BISAET B &

D. d SIfadh 3T Sfolfae deal DI HRd &
ITR: B - 4 UGTGRONY Ag a3 B |

Whatiis the contribution of forests in the energy flow between living organisms

and the'environment?

A. Théyemiticarbon

B. They maintain,ecological balance

CaThey only.produce oxygen

D. They'separate biotic and abiotic elements
Answeér: B - They maintain ecological balance.
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What is included in the socio-cultural importance of forests?

A. Only water conservation
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B. Only industrial resources

C. They have religious and cultural significance

D. They only function as carbon sinks

Answer: C - They have religious and cultural significance.
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What effect does the absorption of CO2 by trees have?
A. It increases CO2 levels in the atmosphere

B. It contributes to climate change

C. It reduces the effect of greenhouse gases

D. It affects biodiversity

Answer: C - It reduces the effect of greénhouse gases.
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What is destroyed due to deforestation?

A. Only vegetation

B. Only wildlife

C. Only seil

D. Vegetation, wildlife, soil, and water

Answer: D - Vegetation, wildlife, soil, and water.
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What property of land could be destroyed due to deforestation?
A. Fertility

B. Water retention capacity

C. Soil structure
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D. All of the above
Answer: D - All of the above.
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What impact does deforestation have?

A. Land water table may decrease
B. Atmospheric carbon dioxide level may decrease

C. Air quality may improve
D. Sea level may decrease
Answer: A - Land water table may decrease.
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What is the purpose of afforestation?

A. To remove carben dioxide fromithe atmosphere
B. To prevent land erasion

C. To protect biodiversity

D. Alfef the above

Answer: D - All'of the,above.
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What is one of the main dangers caused by deforestation?

A. Climate change

B. Increase in soil fertility

C. Increase in wildlife population
D. Increase in tree numbers
Answer: A - Climate change.
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What could increase due to deforestation?

A. Oxygen levels

B. Water pollution

C. Atmospheric carbon dioxide levels

D. Climate stability

Answer: C - Atmospheric carbon dioxide levels.
YR STell T &% fha-t ufa=rd g2
A. 15.39%
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D. 40%
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What is the forest cover percentage in India?
A.15.39%

B. 24.39%

C.33%

D. 40%

Answer: B - 24.39%.
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What'could happen due to deforestation?
A. Reduction in climate change

B. Preservation of coastal areas

C. Global warming and melting of ice sheets
D. Increase in water levels

Answer: C - Global warming and melting of ice sheets.
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What is the biggest threat to wildlife?
A. Deforestation

B. Climate change

C. Agricultural expansion

D. Urbanization

Answer: A - Deforestation.
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Why is forest conservation important?
A. It prevents climate change

B. It preserves biodiversity

C. It protects water resources

D. All of the above

Answer: D - All of the above.
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Which'measure‘can be most effective for forest conservation?

A PromotiAg urbanization

B. Creating new forests

C. Indiscriminate cutting of trees
D. Increasing hunting of wildlife
Answer: B - Creating new forests.
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What is the reason for the lack of dedicated areas for timber production?

A. Natural disasters

B. Government neglect

C. Lack of adequate awareness

D. Lack of proper management

Answer: D - Lack of proper management.
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Is it true that tree plantation reduces environmental pressure?
A. Yes, itis true

B. No, it is not true

C. ltis not always true

D. It does not matter

Answer: A - Yes, it is true.
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Whatiis the objective ofisustainable forest management?

A. Maximizing timbenrproduction

B. Madintaining biodiversity

C. Hunting wildlife

Dulndiscriminate cutting of forests

Answer: B - Maintaining biodiversity.
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What should be done to effectively deal with forest fires?

A. Build new devices for extinguishing fires

B. Put up fences around forests
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C. Establish an effective system for combating forest fires
D. Set fire to forests
Answer: C - Establish an effective system for combating forest fires.
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Which option is an example of social forestry?

A. Forest management by a private company

B. Allowing people to cut trees

C. Plantation and management with community participation
D. Encroachment in forest areas

Answer: C - Plantation and management with.communhity participation.
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What will be the benefit of prometing tree plantation?

A. Increase in climate'ghange

B. Loss of biodiversity

C. Réduction_in environmental pressure

D. Increase in Utbanization

Answer:C - Reduction in environmental pressure.
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What should be permanently reserved for timber production?
A. Wildlife conservation areas

B. Agricultural land

C. Forests dedicated specifically for timber production

D. Urban areas

Answer: C - Forests dedicated specifically for timber production.
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Which technology is most suitable for monitoring forests?
A. Direct inspection

B. Satellite and remote sensing technology

C. Counting of trees

D. Only human-made maps

Answer: B - Satellite and remote sensing technology.
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What is the most important element.for the sustainability of forests?

A. Setting fire to forests

B. Damaging biodiversity

C. Sustainable management of resources

D. Indiscriminate cutting of{trees

Answer: C - Sustainable management of resources.



